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[2X 2]
(2 2-1) (HE 50%)

/:f(x)dac = iA

{ x21+f( )}

NZ Az
:{f(xo)+f($1)+ f($1)+f($2)+ I f(In,1)+f($”> } b—a
2 2 2 n
bi
- Qn“ (fy) + 2f (@) +2f () + - +2f(w,_ )+ f(z,)}
b—a
~ o {f(xo +f +22f }
(2H 2-2) (BH& 50%)
ol E2IOE vek otd, (2-1)0AMd S|SE8 ZA0AM a=0,b=10,n=10 01
z;=i(0<i<10)0122, O Ha WO 2AH V2 ZAtgt2 51.5mm’ 0ICH,
10
V= S(z)dx
J s@
;O—lg{mr1+2(1+4+3+6+9+12+8+6+2)}
= 51.5 (mm?)
[2A 3]
(22X 3-1) (BH&E 50%)
ZlA Al OO 2SIt 2ot HLkotH, AMMEOl n8 22, EAE (4,B0)2 S
JI10ll, 2Xt CHEHA! f(z)=Aa*+Br+C 0] LSMA 2D2|S0| ECH M2t 2X 849
HE (4, B C)E ZHGH| folMdeE xAs O 268 XLs A2 CH2 3049 XESH Q)
oM =},
(2R 3-2) (BH&E 50%)
Zest 2459 FA JEesE 3MOBEZR <US-1>, <U5-2>, L5-3>8 2x Cteal
flz)=Az*+Br+C O L&510d HSAXNLZHA M HE FETH. =, (3,f3)) = (3,85),
(5, f(5)) = (5,187), (7,f(7)) = (7,329) 22 H




9A+3B+C =8 ..., (1)

WBA+5B+C =187 ... .. (2)
9A+TB+C =329 ... (3)
(2)-(1)0 Al 164+2B =102 ....... (4)
(3)-(2)0 Al 244428 =142 ....... (5)
(5)-(4)IAl 84=40. .. A =5

o 2US (4)0f CHYGIH B =11
2= (10l gstH 0 =7.
MetAd (4,B,C) =(5,11,7)0ICt.

E%%J% Sa ot1D, A, B XNSXIF Mg ALA
S=AUB, ANB=o, 1=P(S)=P(AUB)=P(A)

(FN.S)

FN(AUB))

(FNA)U(FNB))

FNA)+P(FNB)
A)P(FIA) + P(B)P(F|B)
0.4)(0.005) + (0.6)(0.003)

0038 (0.38%).
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P(ANE,)  P(A)P(E,A) 1/3 - B4 Ba

PAED) =5y = pE) 1B -G, 6,42

1/3 -1 1
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